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Sol:
L=Limf(x)=Lim2x-3

X=06 X=6
=2(6)-3
=12-3=9

If(x) —L| < €
2x -3 —-9| < ¢
|12x — 12| < €

€

s I
|lx —6] < 2 = 0= >
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1O el ¢ cils g f(x) = ¢ s 13) ()

Lim f(x) = ¢
X=a
: 02 Lim g(X) = B s Lim f(x) = A <uils 13) (¥
X=a X=a
N y
g
X A (ki Ja i

Lim (f(x) + g(x)) = Limf(x) + Lim g(x)

X=a X=a X=a
=AFB
: 0% Lim g(x) = B g Lim f(x) = A <l 1) (¥
X=a X=a
Lim (f(x) . g(x)) = Lim f(x) . Lim g(X)
X=a X=a X=a
=A.B
(O eyl aae ¢ ils g Lim f(x) = A cils 13 (¢
X=a
Lim c f(x) = cA
X=a

Ex: Find the Limits for the Following Function:

1) f(x) =2 .o x=-1

)I(_ |:m_f1(x) X dah (agad Al B ghdl) *
Lim 4us j oy

Lim2=2

Xx=-1

1
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2) f(x):x—13+X2 x=a

Lim f(x)
X=a

. 1 2
= — +
L|m(x3 X%)
X=a

1.
= Lim < + Lim x°
X
X=a X=a

3) f(x):xz(%) x=b

Lim f(x)
X=Db

= Lim (¢* ()

X=Db
:Limxz.Limi
X=b x=b
_ 2 1_
=b .b—b

4 f(x)=x> —3x+4
Lim f(x)
X=2
:Lim(X3 — 33X +4)
X=2

=Limx® —Lim3x + Lim 4
X=2 X=2 X=2

=(2)°-3(2) +4
\V
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=8-6+4

:O¥ B # 0 bydas Limg(x) =B sLim f(x) = A <uils )y (e

_ f(x) _ lime—qf(x) _A
lex=a g(x) B limx=a g(X) - B

OB e 238 1) S Lim [F(X)]" S 13 (3
Lim,_,[f(x)]" =[Lim,_,f(x)]|"

Ex: Find the limit for the Following Functions :

1) fx)=x>, x=2
Lim f(x)
X=2
= Lim X°
X=2
= [Lim x]° = [2]° = 32
X=2
x2-7x-4

2) f(x)="——

Lim f(x)
X=4

2x2-7x—4
[———1

= Lim
Xx=4

= Lim
X=4

=Lim [2X + 1]
X=4

=2(4)+1
=9

(2x+1)(x—4)
x [——1

YA
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x%+1
3) f(x) = - , X=4
_ liall by 1 juidi

Lim f(x) :

X=4 xX-2=4-2
I =240
= Lim [ 2 ] oY Jhia (s sy aliall o Ly

x=4

Al i) Apaldl) Gkt polaiaa

limy—g(x%41) _ limy—y x2+lim,—4 1
limy_4(x-2) limy—4x— limy—42

_ [limy—4]* +1
- 4-2

_[41*+1
)
_v
S 2
Example: Find the limit for the Following Function:

x—1
1) f(x):\/}_1 , X=1
Vx—1=4/1-1=1-1=0
Lim f(x)
x=1
do pid) (38ad adad dcsaldd) dpaldd) gaadati 0Sas Y

Lim (\;;__11 . \/‘é:) Adacy o) B LN (uSe Jadh alBal) j)aha (pudi g2 3381 yall
x=1

. (x—1D)(x+1)
Lim (x+/i—/x_—1)

x=1
Lim ((M)(ﬁ+1))
x=1
Lim (vVx — 1)==Lim+x + Lim 1
x=1 x=1 x=1

' 4
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H.w: Find the limit for the Following Functions:
1- f(x) = -

2- f(x) = 2x3+§ , x=3

3x
x=2
+1 !

1

3-f(x)=x2(E) , x=2
4-fw)= Yu—-1 , u=5



